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2-5 Point-Slope Homework Date

y—yi=m(x—xp)

1. Find the equation of a line with the given slope and point on the line. Express your answers in
point slope form. " x=l = x «{

a. m=2 and(-1,3) Q/"ﬁ) = A(X +\3
b m=-2 and(-5,-2) Y b = "2 <>( ‘\'5->

c. m=3 and (0, 10) \/"O = 3%

2. Find the equation of the line that passes through the given two points. Express your answers in
point slope form.

.5(0()1-“- Qf_/_{. a. (-4, 7)and (6,-3) . y L= - <>< _,(05/

¥y y" (V] = z:-—}—— T —_— -(
g A -(5 _
b. (1, 12)and (-3, 5) — - S
M‘“B};—*::}l Y—D= q(x—\\} /
(-—— = e

c. (-6,10)and (2, -5)

M==5 15 | g1
-2 &

3. Given the equation y -5 = 6(x - 8)
a. What is the slope?
b. Name a point that is on the line.

(8,

c. Find the y-intercept. - —

V-S= bx-& ( 0, 4%y (
Y = bx -5




4. Write the equation of the line graphed below. Express your answer in point=slope form
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5. Explain why it’s sometimes helpful to use pointsslope form instead of slope-intercept form?
 There is no nef o hind ¢le y-inkrgpt
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